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o FUT TG BT [ 57 F9T-7H § GRT § 15 79 797 38 &
Please make sure that the printed pages in this question paper are 15 in number

and it contains 38 questions.

o Jo7-7H ¥ e & @ G RF T8 FS TEY Tl 6 H OH FI-YkawE F FEI-g8 G
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF F9T FH FaV [iE@T J&@ V7 G Yee, 9T H B AT [
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §/9 T 85

Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF o e T& Al o saeaEdgar & @ G fiar Faw T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o TUETER U AT To FT-TH qT Haed [i@) W To F SHARFT FIT-YH G I FE A T
frd sife dafeys 7971 & TR T Frdll ST T 9T T e

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U F97 % T 37 @ {4 F GElEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T 7 g o qrar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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125 9= 5 &g 5% 597 4 S # 8

GUe-7 § y97 & 36 @ 38 T FTOT F97 &1 FA9F §T F TV FTHT 150 @
200 9= F 5w g&% F97 6 3H F &

GUE-7 % 3 F971 F ofiaR® 797 FaT [ 79 &1 0F gl ¥ & o RY T w9
7 @ 2q7 OF & F97 HTT 8

General Instructions :

(9

(@)

This question-paper consists of total 38 questions, which are divided into
four Sections : 'A', 'B', 'C' & 'D'.

All questions are compulsory.

1218/(Set : C)



(3) 1218/(Set : C)

(iii) Question Nos. 1 to 20 of Section-A are objective type questions. Each
question carries 1 mark.

(iv) Question Nos. 21 to 29 of Section-B are very short answer type questions.
The answer of each question may be given in about 25 to 50 words. Each

question carries 2 marks.

(v) Question Nos. 30 to 35 of Section-C are short answer type questions. The
answer of each question may be given in about 7S to 125 words. Each

question carries 4 marks.

(vi) Question Nos. 36 to 38 of Section-D are long answer type questions. The
answer of each question may be given in about 150 to 200 words. Each

question carries 6 marks.

(vii) Internal choice has been provided in two questions of Section-D. You have to

attempt only one of the given choice in such questions.

s - A
SECTION - A

(aEgfrs a%)

(Objective Type Questions)

1. Afeered & qiaie FOky § et i e Ram § werd e g 1
(A) FES (B) URAR
(C) Tl (D) A
It is helpful in providing women equal share in family property :
(A) Society (B) Family
(C) Kinship (D) Law

1218/(Set : C) P.T.O.



(4) 1218/(Set :
2. 1998 # fasg wIX ¥ fhaw HAUS ANT ‘Seie’ A AW Hd o 7

(4) H= B) ®:

(C) «a (D) &S

How many crore people around the world used 'internet' in 1998 ?
(A) Five (B) Six

(C) Seven (D) Eight

3. ‘7 Wit ks Tedql e ¢ -
(A) T H i s A
(B) ST AT Tl Aot s &
(C) o b &
(D) ST gt o

Census data is important in ................ .

(A) Making state policies

(B) Making policies related to public welfare
(C) In economic development

(D) All of the above

4. HieE F SMOE ghe Riera e see o ey § e 6w g e
(A) TG ) e
(B) ordfeqaeen W ey
(C) SHEE W ey
(D) SW F  FEg T

1218/(Set : C)



(5) 1218/(Set : C)

Malthusian theory of Population growth has been explained in which Essay on

population ?

(A) Essay on Politics

(B) Essay on Economy
(C) Essay on Population

(D) None of the above

g ’
(A) STTEYE (B) SHEE
(C) HEEAR (D) SR & q HE &

The 'Society' which is formed and governed by Community, Social Institutions

and relations is called :

(A) Group of People (B) Population
(C) Mass Communication (D) None of the above
6. ‘SIS SHEET N 85% (Wfiew) A a7 & frg foeq & e & 7 1
(a) ST0 AT A (B) aferl wwa #
(C) A= ARG H (D) YaR 9Rd #
In which part of the country does 85 percent of the "Tribal' population live ?
(A) Northern India (B) Southern India
(C) Central India (D) Eastern India
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7. T8 ¥ H-G qHEEE Her 7 1
(A) TRaR (B) fa
(C) s (D) T |

Which of these is a Social Organisation ?

(A) Family (B) Caste
(C) Bazaar (D) All of these
8. =1 & @ FF-71 931 g & A d% ‘GEr JeM B F OF A § 7 1
(A)  fst (B) T
(C) el D) ¥ weh

Which of the following is a means of providing 'information' to a large number of

people ?
(A) Films (B) Internet
(C) Television (D) All of these
9. ‘SN i o © : 1

(A) HEl T STERa SMR
(B) T4 | Rl 1 IgH
(C) I qmID Tv el Al [
(D) SWIed Fell
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The meaning of industrialization is :
(A) Products based on machines
(B) Emergence of new social groups

(C) Development of new social relationships

(D) All of these

10. 1= & § H-91 MY TR ‘SNufafes’ e § se=fad gar ? 1
(a) =
(B) w=rE
(C) (A) IR (B) A
(D) & & P15 T

Which of the following Modern Cities become popular during 'Colonial’ rule ?
(A) Bombay

(B) Madras

(C) Both (A) and (B)

(D) None of these

11, 9RT & .o % fad & HROT ‘IU-FHAgEE’ g ga 1
(efrare /SusfeRTeTe)

'Colonialism' became prevalent due to the development of .............. in India.

(Capitalism/Consumerism)
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12. ‘SafE aee  9RAE Fored B e | R o SufEer § 9w ? 1
(A) TR (B) ST
(C) S (D) IR as §

To which of the following 'Colonies' other than India did the 'Colonial' rule send

Indian labourers ?

(A) Asia (B) Africa
(C) America (D) All of the above
13. RAE ‘H@a ARG ‘@b H ER © 1
(A) T (B) T
(C) word (D) SR § d Fi5 Tl

The Indian 'Constitution' is the foundation of Indian 'Democracy’ :

(A) Basic (B) Real
(C) Strong (D) None of the above
14. 9RT & o ‘wiagm’ S 7AQT qA) R @ 1
(A) 1928 H (B) 1930 #
(C) 1938 # (D) 1942 ¥

A draft of 'Constitution' was prepared for India in :
(A) 1928 (B) 1930

(C) 1938 (D) 1942

1218/(Set : C)



(9) 1218/(Set : C)

15. AROE G @ gEET e d 8 R geied s @ 5Ee #3d 8 1
(A) IS = (B) ¥ =g
(C) eIifa® =™ H (D) SYUET T4 Bl
Which of the following does the Preamble of the Indian 'Constitution' try to
ensure ?
(A) Social justice (B) Economic justice
(C) Political justice (D) All of the above

16. ‘TSWHA 3G feaT Himd Us om=E gefed g 1
() Yetafert & (B) SeENTaREl &
(C) Tl | (D) S g |

'Federation of Indian Commerce and Chamber's belongs to :

(A) Capitalist (B) Industrialist
(C) Politician (D) All of the above
17. ‘STHIH TR ORI & e o 1
(A) I, 2014 (B) S, 2015 ¥
(C) I, 2016 # (D) S, 2019
'Namami Gange' project started in :
(A) June, 2014 (B) June, 2015
(C) June, 2016 (D) June, 2019
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18. WA ‘HHST EfEd T 4 .............. I B (T /grEdt) 1
Indian 'Society' is primarily a .............. Society. (Rural/Urban)
19. ‘THIH T GRASH F G R © ¢ 1

20.

(A) T & W S SEET

(B) oiftrmifees R w<

(C) M € GASittad HEA

(D) ST gt

Main object of 'Namami Gange' project is to :
(A) Making Dam on River 'Ganga'

(B) To irrigate as much as possible

(C) Reviving River 'Ganga'

(D) All of the above

frr & @ ®9-o1 &9 A% =7 Sfear wEn § it 78 e B ? 1
A) SAqeEE (B) SAg-Menfe
(C) HIR X T= e (D) farem

Which of the following Sector is not covered in the 'Make in India' Programme ?
(A) Automobiles (B) Biotechnology

(C) Media and Entertainment (D) Education
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goE - §
SECTION - B

(erforrg Sl us)

(Very Short Answer Type Questions)

GETEl W AT & FY S W SR 2

Describe the four main sources of income of the 'Panchayat'.

g #l geEl SR @ B ¢ 2

What is the 'Land Ceiling Act' ?

‘SEEr dgfs & 9 1 angd § ¢ 2

What is meant by 'Population' growth rate ?

SEE gis & e & Y ameErd B Ste -4 § 7 2

What are the preventive checks for controlling 'Population’ growth ?

‘wg fagmel & F-an e 3 7 2

What is included in 'Permanent Traits' ?

g S gl oM Al ‘SiEl & S & o s 3 @ g9 e ? 2

What efforts did Gandhiji make for the upliftment of the lowest Castes ?

AR TSI Bl §F ¥ 9 g 8l [y 2

Write one advantage and one disadvantage of 'Interview' method.

1218/(Set : C) P.T.O.



(12) 1218/(Set : C)
28. ‘IUMAYEE fHY I ST & ° 2

What is considered 'Colonialism' ?

29. ‘ToTlich & I GRS i 2
Define 'Political Party'.
gig - §
SECTION-C
(g Sl o)
(Short Answer Type Questions)
30. ‘g AR VTR & &= 71 T ¢ ? 4

What is the relationship between 'Globalization' and 'Employment’ ?

31. ‘HFHN USH % TYE Hh H Seoid Hil FHH §F TIE GHAE Ty 3+1=4
Mention the main factors of causing 'Famine'. Also describe one major side-
effect.

32. Gy @R F; T 7 4
What is 'Joint Family' ?

33. ‘WESIMEG WA HH-G & ! IR WM hE TR foRAT ST § 7 2+2=4

Which are the 'Public Places' ? How are they used ?

34. TR TE TEHHET F B8 TG AT & P 3HD @ A A am Rarg ? 3+1-=4

How is a group effected by 'Sanskritization' ? What argument does Srinivas give

in support of it ?
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1982 ¥ & §93 RIS A Hl ESA Hl =@ i 4

Discuss the Bombay Textile mill strike that took place in 1982.

s - §
SECTION - D
(S St us)

(Long Answer Type Questions)

Frrtfeied s @ eFyde eT T I8 ¢ geAl & el T

‘ST WG B G BT OIR IEH g8 AT W U B @ o 9 SR IR
TR H T ARG & ARG AR N Ted @ BT N G oG AT B G TG
Pl Al YA GH FA AN IGS o 898 3 & W3 ‘Sig Fralivgar sifivam e e
ff T Faw Sfa AR a IR & BROT ARG b HAUHR] B HH Tel [BAT ST A & B

F FT o1 9391 diagH deled oifufEd S S ¥ FF S 3EH § FB B Rwem q
qgefead g1 39 § U el Ieead [ o deretl § oy fes anl & R Seer «ry
& ol an Saie gE AfRfEe @@ we § afadl & 9 B # s & e
SR T AT & HEdYel HH S AW S qed dewyel RAE GeE dw aid g
Bl S HT F99-899 W TR 8ld © &, 59 - 1850, 2005, 23 SHad 2006, 1850
g 2006, 9331 HAHH WMET T 1950 A

97 :
() 1850 & ‘S FEraar fFarer sifem & @1 e #f § § ? 1
(i) ‘Rrer & gafEd S otgE e HA-9 & ? 1
(ili) “STEIOT &l AR HT I8l ? 1
(iv) R ‘Giga™’ %9 QR fear @ ? 1
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(v) 1850 & HAAFEH S9M H1 Ig9F 1 AT 7 1
(vi) 93dl Hele B H9 & ? 1
Read the following passage carefully and answer the following questions that
follow :

'Reservation' was arranged by the State to remove caste discrimination and
compensate for the damage caused by it. Apart from reservation there are many
other laws which prevent or eliminate caste discrimination, especially
untouchability or provide punishment for it, which provides that the rights of
citizens will not be reduced merely because of change of caste and religion. One
such law was 93rd Constitution Amendment Act which later became law. Some of
these laws were related to education. One of these amendments was to implement

reservation for the other Backward classes in institution of higher education while

the other act was made to allow recruitment of Dalits in Government Schools. The
most important law is passing of the Indian Constitution. The above laws
continued to be passed from time to time such as in 1850, 2005, 23rd January,
2006 (1850 and 2006), 93rd Constitutional Amendment and 1950 etc.

Questions :

(i) What provision was made in 'Caste-Disability Prevention Act' of 1850 ?
(i) What were the 'Laws' or 'Amendments' related to Education ?

(ii) Why was there a need for 'Reservation' ?

(iv) When was the Indian 'Constitution' passed ?

(v) What was the purpose of making the Act of 1850 ?

(vij When was 93rd Amendment made an Act ?

1218/(Set : C)



(15) 1218/(Set : C)

37. WG GeH § ‘@A’ Bl AR B
Explain 'Regionalism' in Indian Context.
HYqT
OR

‘A% TeE’ H Hewd Jai

Explain the importance of 'Community Identity'.

38. T I TRH g G = § g FR R’ 8 ?
How are New Social Movements different from Old Social Movement ?
HYqT
OR

fael STl @t foega @4t ik

Discuss the Chipko Movement in detail.
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